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I. Choose the correct answer. 8 X ¥2 = 4 marks
a) 2210 hours is the same as . (10:00 p.m. ,10:10a.m. ,10:10 p.m.)

b) 8.385 litres is equal to ml. ( 8385, 83.850, 838.500)

c) If , then thereisaloss. ( SP>CP, CP>SP, SP=CP )

d) When | have fever, | take 7.5 of Paracetamol syrup. ( ml, I, hl )

e) 10 weeks = days. (70, 7, 700)

f) 8500 cm = m. ( 8.5, 85, 850)

g) 1 hour before noon will be .(11: 00 a.m. ,11:00 p.m. , 1: 00 p.m.)

h) SP=C.P loss. (+,-, X))

I1. Convert. 6 X %2 = 3 marks
a) 12140 metres into __ kilometersand __ metres.

b) 1:45 p.m. into 24 hour clock.
c) 4857 litres into kilolitres and litres.

d) 3 months 14 days into days.

e) 1.975 kilograms into grams.

f) 78 seconds into minutes and seconds.



I11. Solve. 4 x1=4marks
a) Add.

1) 45 cm 9mm, 33 cm 6mm and 3cm 3mm

2) 12 hours 40 minutes and 4 hours 26 minutes

b) Subtract.

1) 17 years 6 months - 8 years 3 months.

2) 51 175ml from 471 500 ml.

1VV. Do as directed. 5x1=5marks

a) Find the C.P if S.P = OMR. 965.600 and profit is OMR. 32.120

b) Find the time 6 hours 25 minutes before 3:30 p.m.

c) Find profitor loss if C.P = OMR.1590.300 and S.P = OMR. 2000.500

d) Find the time interval between 11:40 a.m. and 4:55 p.m.

e) Find the S.P if C.P = OMR. 470.560 and profit is OMR. 55.200

V. Solve the word problems. 2 X 2 =4 marks

a) A gas cylinder weighs 26 kg 900 g. After a few days it weighed 7 kg 760 g. Find
the quantity of gas used.

b) Mr.Ravi bought a carpet for OMR. 1345.700. He sold it for OMR.1500.850 . Find
his profit or loss.



